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SECTION A 

Multiple Choice Questions (25 marks)

Suggested time: 30 minutes

Attempt all questions in this section.  Choose the alternative which correctly answers the question or completes the statement.  Record your answers on the separate Multiple Choice Answer Sheet using a 2B, B or HB pencil.  Read the instructions on this sheet with care.

Each question is worth one mark.

________________________________________________________________________________

1. The economic model that shows the fluctuations in economic activity is known as the 


(a)
circular flow model.


(b)
keynesian diagram.


(c)
aggregate demand /aggregate supply model.

(d)
trade cycle.
2.
The most stable component of Aggregate Expenditure in Australia is 


(a)
private investment expenditure.


(b)
private consumption expenditure.

(c)
government spending on goods and services.


(d)
government spending on transfer payments.

3.
Which of the following is a leading indicator of the level of economic activity?


(a)
Unemployment rates.

(b)
Retail sales.


(c)
The All Ordinaries Index.


(d)
The inflation rate.

4
In the five sector circular flow model of the economy, if the value of withdrawals exceeds the value of injections, then 


(a)
inventories will rise and the level of economic activity will fall.

(b)
both inventories and the level of economic activity will fall.


(c)
a new, higher level of income will be attained.


(d)
the government will have to run a deficit budget to achieve equilibrium.

5.
Which one of the following is not a demand side factor influencing economic growth? The 


(a)
level of consumer confidence.


(b)
productivity of the labour force.


(c)
influence of interest rates on consumption expenditure.


(d)
influence of personal income tax on consumption expenditure.

Question 6 refers to the following diagram.
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6.
 Which one of the following is most likely to cause the economy to move from point A to 

  point B?


(a)
A reduction in interest rates.


(b)
Increased government spending.


(c)
A decrease in consumer spending.

(d)
A decrease in income taxes.

7.
Which of the following is most likely to cause a downturn in economic activity in  a country 

that had experienced a long period of sustained economic growth?
 A


(a)
 significant rise in the world oil price.

(b)
 significant depreciation of the currency.


(c)
 fall in the inflation rate.


(d)
 fall in the unemployment rate.

8.
 If in a given economy, the marginal propensity to consume is 0.75, the top marginal rate 

of tax is 0.40 and the level of investment is $400m, then the size of the multiplier is 


(a)
1.33.


(b)
4.


(c)
0.86.


(d)
1600.

Question 9 refers to the following table that shows the maximum alternative combinations of consumer goods and capital goods that two countries can produce.

	
	Consumer Goods
	Capital goods

	Country X
	12 000
	4 000

	Country Y
	8 000
	2 000


9.
 According to the theory of comparative advantage, if the two countries pursue free trade 

policies, the price of consumer goods will


(a)
rise in country Y and fall in country X.


(b)
fall in both countries.


(c)
remain the same in country X and fall in country Y.


(d)
remain the same in country Y and fall in country X.

Question 10 refers to the following table giving details of a nation’s Terms of Trade.

	Year
	Import Price Index
	Export Price Index

	1
	100
	100

	2
	103
	115


10.
What can be said about this country from the change in the Terms of Trade shown in the 

table? The country 

(a)
has imported more than it has exported.

(b)
has earned more from exports than it has spent on imports.

 (c)
will now experience an improvement in its current account outcome.

(d)
can now buy more imports with a given volume of exports.
11.
If the RBA were to act to lower interest rates, then aggregate demand would probably 

(a)
rise and the exchange value of the $AUD fall.

(b)
fall and the exchange value of the $AUD rise.


(c)
fall and the exchange value of the $AUD fall.


(d)
rise and the exchange value of the $AUD rise.

12.
Which of the following has contributed most to fluctuations in the balance on current account in Australia?

(a)
Services credits

(b)
Net income

(c)
Net transfers

(d)
Goods credits

13.
In  Australia’s Balance of Payments  the provision of education to overseas students is recorded in the 

(a)
capital account.

(b)
services account.

(c)
financial account.

(d) income account.

14.
Opponents of globalisation would argue that 

(a)
free trade should be pursued by all nations because it is consistent with the principle of comparative advantage.

(b)
high levels of international specialisation will mean higher priced goods, because as materials are shipped across the globe, transportation costs will become excessive.

(c)
the transition costs of shifting  to a free trade environment are too great, and not really transitory.
(d)
international specialisation along the lines of comparative advantage will result in 

economic inefficiency in  resource allocation.

15.
If there is an increase in demand in Australia for American electrical products, then in the 

foreign exchange market, the 

(a)
demand for the $US rises and the $US appreciates.

(b)
supply of the $US rises and the $US appreciates.

(c)
supply of the $AUS falls and the $AUS depreciates.

(d)
demand for the $AUS falls and the $AUS depreciates.

16.
Which of the following would represent a fall in the level of domestic protection? 

(a) A rise in the level of subsidies.

(b) A rise in the size of quotas.

(c) An increase in the use of import embargoes.

(d) An increase in the tariff rate.

17.
If an economy has been enjoying a long period of economic growth and the federal government had budgeted for a surplus, then a move into recession would automatically 

(a)
move the budget into deficit.

(b)
decrease the size of the surplus.

(c)
bring the budget to balance.

(e) worsen the current account deficit.

18.
The policy tool that has been the focus of demand management in the last decade has been 

(a)
fiscal policy.

(b)
monetary policy.
(c)
microeconomic reform.

(d) external policy.

19.
In a deregulated labour market one would expect to find significant 

(a)
union influence in the wage setting process.

(b)
federal government influence in the wage setting process.

(c)
wage differentials between occupations.

(d)
industrial unrest.

20.
In the short term, with nothing else changing, a fall in real interest rates in Australia would be expected to cause a

(a)
rise in the level of overseas investment in Australia and an appreciation of the 

Australian dollar.

(b)
fall in the level of overseas investment in Australia and an appreciation of the 

Australian dollar.

(c)
rise in the level of overseas investment in Australia and a depreciation of the 

Australian dollar.

(d)
fall in the level of overseas investment in Australia and a depreciation of the 

Australian dollar.

21.
Which of the following combinations of fiscal and monetary policies would probably cause 

the greatest short-term expansion of the economy? A discretionary rise in 


(a)
an existing budget deficit and a reduction in the cash rate.


(b)
an existing budget deficit and a rise in the cash rate.


(c)
an existing budget surplus and a reduction in the cash rate.


(d)
the cash rate and a fall in an existing budget surplus.

22.
If a government aimed to balance its budget at all times then, in a time of economic boom, it would have to 


(a)
increase its tax rate and reduce government expenditure.


(b)
decrease the tax rate and reduce government expenditure.


(c)
increase both tax rates and the level of government expenditure.


(d)
leave tax rates the same and increase government expenditure.

23.
The introduction of the GST could have contributed to a downturn in economic activity because it 


(a)
is a regressive tax.


(b)
is a progressive tax.


(c)
created uncertainty.

(d)
added significantly to inflation.

24.
The main tool of monetary policy in Australia is 

(a)
the Reserve Bank of Australia (RBA).


(b)
the cash rate.


(c)
control over interest rates.


(d)
the inflation rate.

25.
Which of the following will contribute directly to an improvement in labour 

productivity?



(a)
A  rise in the male participation rate.


(b)
A decrease in the natural rate of unemployment.


(c)
A rise in the capital/labour ratio.


(d)
A rise in the labour force participation rate.

SECTION B
Data Interpretation  (30 marks)
Question 26.  AUSTRALIAN OUTPUT, EMPLOYMENT AND PRICES

(a)
(i)
The highest rate of unemployment was  10.5%   recorded in 1993/94  (1 mark)


(ii)
The highest rate of inflation was 4.2% recorded in 1995/96.

(1 mark)

(b)
Describe economic conditions in the year showing the greatest improvement in the level of economic activity. 







(3 marks)
· The highest level of activity corresponds to the highest rate of economic growth as measured by % change in output.  Identify the year this happens as 1995/96.

· Describe the key economic indicators in that year.  Compare them to the target range and show awareness of the links between each.

                        -  Inflation is in excess of the RBA’s target range, although it might be 

                           acceptable ‘on average over the cycle’.  Given the strong growth this is probably 

                           demand pull inflation.

- Unemployment is above the Federal government’s target, but it is falling with economic  growth.  This would be  regarded as a fall in cyclical unemployment.

(c) Suggest reasons for the trends in unemployment and inflation shown in the table. 

(5 marks)
· Both supply and demand side factors are in operation.  For full marks students should show awareness of the influence of growth on inflation/unemployment.  They should demonstrate some understanding of the nature of the structural factors in operation.  They should refer to both the table and their knowledge of the time period in their answer.
· From 1993/94 to 1995/96 the influence of demand is very strong as price rises accompany GDP increases and unemployment falls.
· Post 95/96  supply side factors are at work as strong growth is accompanied by low inflation and sticky unemployment. 
· Structural unemployment is the issue, as rapid change has left some workers inadequately skilled for the jobs that growth created. 
· Cost efficiencies via MER could account for the low inflation.
	


Question 27.          WOODSIDE: COSTELLO’S SHOCK VERDICT.

(a) 
Account for the impact of the Woodside decision on the exchange value of the Australian dollar.








(2 marks)

· Students should recognise that the impact was a depreciation of the $AUD.

· Reasons 
                               - reduced Foreign Investment would reduce demand  for $AUD.  Speculation 

                                 about this causes sell off and reduction in demand for our currency.
                              -Uncertainty could lead to foreign capital outflow and an increase in supply of 

                                $AUD on the FOREX.
(b)

Outline the possible reasons for the Treasurer’s rejection of the takeover bid. 

(3 marks)

Accept most ‘textbook’ arguments regarding the adverse effects of Foreign Investment e.g.
· Flow of profits overseas as dividends remitted to shareholders. 
· Decisions (by foreign owners) based on profit maximisation might lead to Australian  production/exports being restricted.
· Reduced local employment.
· Good answers will refer to the problems of strategic resources being held by foreigners.
· Penalise off the top of the head or media style answers.
(c)
Explain why foreign investment is “much needed” in Australia.

(5 marks)
             Expect a textbook style outline of the advantages of foreign investment e.g.:

· Aids economic growth and development by providing funds that compensate for inadequate savings in Australia.

· Access to foreign  research and development findings and expertise.

· In this case there should be an emphasis on the need for financial inflow to offset our CAD. 
· Each point should be elaborated upon and students should refer to the article within their answer.
Question 28 FEDERAL BUDGET  UNDERLYING CASH BALANCES

(a) Give the budget outcomes for 

(i) 1992/93.  
-4% GDP i.e. a deficit
(ii) 2000/01.
0.4% GDP i.e. a surplus


(2 marks)
(b)
Suggest reasons for the shift in the budget outcome from 1992/93 to 1998/99. 

(3 marks)
· Description of extent and direction of change.

· Structural and cyclical reasons. (Define and give examples)

· Cyclical : period corresponded to the upswing stage of the trade cycle so automatic stabilisers. (Define and give examples)

· Structural: Programme of fiscal consolidation. 

(c)
Outline the possible impacts of the shift to budget surpluses as shown in the graph.

 (5 marks)
· A decrease in the Government component of aggregate demand which could lead to a decline in the overall level of AD.

· Allows interest rates to fall or remain low since the federal government is not adding to demand pressure on prices.

·  Depending upon the method of disposal of the surplus, public debt (which could include the foreign component) may decline.

·  Adds to the national savings pool.

· Improves the CAD position.  Students may refer to the twin deficits argument. 

· A possible ‘crowding in effect’ allowing private investment spending to rise, compensating for the fall in Government spending,  so that economic growth can remain strong.

· If the surplus is achieved through discretionary cuts to expenditure then we need to examine the micro or sectoral effects of such cuts.  There could be  a fall in the level or quality of government services or in the level of welfare.

SECTION C 
Essays and Extended Answers (45 marks)
29.


(a)
Explain and demonstrate how aggregate demand affects the level of national income.
(6 marks)
· A clear definition of AD/AE. (1 mark)
· Identify components of AD  viz; consumption, investment, government spending and net exports. (1 marks)
· Draw the Keynesian cross or AD/AS diagram. (1 mark)
·  Detailed explanation of the determination of equilibrium Output/Income by reference to the diagram and with an emphasis on the role of demand. (3 marks)
(b)
Describe the role of savings and investment in determining the level of economic 

activity in Australia. 








(9 marks)

· Definition / description of savings as a leakage reducing the flow of expenditure.
· Definition / description of investment as an injection adding to expenditure. 
· Role of investment in installing new technology and raising productivity.
· Indicate understanding that savings are channeled into investment spending by the financial sector.
· Brief reference to the three sector circular flow should be rewarded, but detailed description of  the expanded circular flow is inappropriate.
· Volatility of investment accounts for economic fluctuations via the multiplier.
· Implications of expenditure for production and thus S and I for economic activity 
· Description of savings/investment imbalance in Australia and consequent reliance on foreign investment.
Students must make reference to the Australian economy in their answer since it is explicitly referred to in the question.
30.


(a)
Outline the factors that could trigger a downturn in the Australian economy at the

 present time.








 (10 marks)

· Explain the meaning of ‘downturn’. (1 Mark)
· Discuss factors that could cause components of AD (C, I, G, X-M) to fall at the present time. Appropriate examples include  a fall in expectations, poor agricultural conditions, a slowdown in US/World economy acting on X-M, fragile state of consumer and business sentiment could effect C and I and  the approaching election might also be mentioned as a factor creating uncertainty. (4-5 marks)
·  Keynesian or AD/AS diagram should get credit. (Up to 2 marks)
· Supply side shock   (  decrease in AS.  Possibilities include falling $A or a  surge in oil prices. (3-4 marks)
(b)
Suggest an appropriate policy response to such a downturn.

 (5 marks)

· Most will suggest Demand Management policies i.e. expansionary fiscal and monetary stance. This should be described and explained.
· Demonstrate knowledge of current conditions eg present low inflation so there is some room for fiscal expansion BUT
· Students should recognise the inflationary potential of stimulating aggregate demand especially if the cause is a supply side shock.
Students must make reference to current Australian economic conditions because these are explicitly required by the question.

31. 


 (a)
Explain and demonstrate the benefits to be obtained from a policy of free trade.













(6 marks)

· Outline the principle of comparative advantage. 

· Indicate understanding of why international specialisation raises total output.  This should be achieved through the use of a model (graph or table) to demonstrate the operation of comparative advantage.

· Students should point out that free trade leads to higher living standards via more efficient resource allocation on a global scale.  Demonstration of understanding of this point is essential for full marks to be awarded.
· Possibilities for developing nations to gain access to markets in the wealthy industrialised economies such as USA, Europe and Japan.
(b) Discuss the arguments of those who believe that there should be restrictions on the 

            free movement of goods, services and capital between nations.


(9 marks)
· Arguments against free trade and foreign investment should be explained and evaluated.  Essentially the valid/invalid arguments for protection as per any textbook.

· Reserve full marks for students who are aware of real world issues associated with the move to freer international trade.  These include the time and cost involved in adjustment and issues of exploitation.  Some detail on these costs should be covered e.g. structural unemployment, rises in the CAD and debt servicing costs and restrictions on the economic power of domestic governments.

32.     

 (a)
 Describe the factors that affect the exchange value of the Australian dollar.

(9 marks)
· An explanation of managed float with diagrams.

· Description of factors affecting supply of  and demand  for $AUD based on components of Balance of Payments.

· Answers could deal with competitiveness (productivity and inflation), demand for our exports/terms of trade, stage of trade cycle in Australia, domestic v overseas interest rates, RBA intervention in Forex market, George Soros and other speculators.  Three or four done well should get top marks.

· Alternatively they could target B of P directly, i.e. ‘if we increase our exports then $ appreciates. Higher inflows of FI causes $ to rise,’ with explanations.
(b)
Outline the effects of an appreciation of the currency on the current account of the Balance of Payments.







(6 marks)

· Define appreciation.

· Explain how this increases imports and decreases exports of goods and services through changes in prices. i.e. The effect on the trade balance is likely to be negative because:
· appreciation reduces the $AUD price of imports making them more 

                                         attractive to local consumers.  If demand for imports is price elastic then 

                                          purchases and expenditure on imports will rise.

· appreciation raises the foreign currency price of Australian products 

                                          making them more expensive to overseas buyers.  If demand proves to

                                          be elastic then export sales and receipts will fall.

· Indicate that the effect on net services will be similarly affected with tourism being particularly price elastic.
· Explain the effect on the net income sector. Interest debits are likely to fall because about half our of foreign debt is denominated in foreign currency so that the $AUD value of interest payments abroad is reduced.  Reduces the return on foreign assets. This is the valuation effect.
33.
Explain and demonstrate the nature of microeconomic reform in Australia over the last twenty years.  Answer this question with reference to three specific Australian examples.


   





          (15 marks)

· Definition of Microeconomic Reform (MER)
· Description of how the reduction  of regulation and increases in competition in markets increases the  efficiency/flexibility of the economy.
· Description of three examples of MER.  Teachers will be guided by the examples that they have provided to each class and there will be variation in the choice of examples. Students  must show understanding of the link between their examples and the question. The next dot point is, therefore, more important than a detailed description of what happened in a particular industry.

· Discussion of how each example meets/met the broader objectives of MER. 
· AD/AS diagram appropriate here.
· Reserve full marks for students who refer to the costs of MER, since the existence of costs is part of the “nature”.
END OF SOLUTIONS

SEE NEXT PAGE
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